3-3 Inequalities and Their Graphs
I can solve inequalities using addition and subtraction
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When I multiply or divide both sides of an inequality by a _________________ number, I ________________ the direction of the inequality symbol.  
	Solve
60 < 12b                        
                                                                    Flip?  Yes or No


	Check

	Solve
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< 8                           
                                                                    Flip?  Yes or No


	Check

	Solve
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                                                                    Flip?  Yes or No


	Check

	Solve

– 9n  > -36               
                                                                    Flip?  Yes or No


	Check

	Solve the inequality and graph your solution

[image: image7.png]R



 > -6                          
                                                                    Flip?  Yes or No
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	Solve the inequality and graph your solution

f + 4  > 14

                                                                    Flip?  Yes or No 
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	Solve the inequality and graph your solution

-7c < 28
                             Flip?  Yes or No
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	Solve the inequality and graph your solution

54 < -6k                      
                                                                    Flip?  Yes or No
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	Solve the inequality and graph your solution
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< 21                                                         Flip?  Yes or No
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	Solve the inequality and graph your solution
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	Suppose Frank and Malaya are planting trees.  Together they can plant 8 trees per hour.  What is the greatest number of hours that Frank and Malaya would need to plant at most 40 trees.  


	Suppose the physics club is going on a field trip.  Members will be riding in vans that will hold 7 people each including the driver.  At least 28 people will be going on the trip.  What is the lease number of vans needed to make the trip? 


	Austin needs to travel 275 miles for a conference.  He needs to be at the conference in no more than 5.5 hours.  What is the slowest average speed that he can drive and still arrive at the conference on time? 



1. When do you need to flip the inequality symbol? 
2. Did you need to flip the inequality symbol today? Why or Why not?
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